2025 F 48

* 1-1 RESE

B/ EEIL A L FEall R#EE) 8 - FEHRIERE (E

KFERE &% =9 =% Outlet B4 4,532.51 0

a5 4,532.51 0
BERRR . REEREE

xR 1-2 BE=S
== [
22T A T T :
e mE | mewE | TR | e
(%)
KBEE EE Eh=H Outlet F—##%4H 521,140 10.6 5,600 16.7 521,140 11.8 0 0.0
=5 521,140 10.6 5,600 16.7 521,140 11.8 0 0.0

BERIRR : BEEREEAREE

% 1-3 REREEERY
AEFAE - OIRX - FABAHE

— U\
BER R = | #esR R
i U=\ ool 1711 PO =1 V=1 Do =1 = = Mol 1 =0 =1

BEIAEHE

. Em Ee=

N S—H4E 160 111 135 -49 1000 0.1 99.8 -0.2 77.8 4.7 79.6 -2.2
F# Outlet
=11 144 -14 127 -99 996 -04 997 -0.3 79.6 7.1 79.6 -2.2

BERRR . BEEREZEAREE

® 1-4 RAFKBE
AEH TES

- AR BB (HIRITHE)
ERERERE EHERR FHREERE EHEARE

NA

BERIRR . BEEREE



